
Löser zum Thema:      Lagerverlust

Aufgabe 1:

Backgewicht 100 % 755 g

 - Lagerverlust 1,2 % 9,1 g

Verkaufsgewicht 98,8 % 745,9 g

Aufgabe 2:

Backgewicht 100 % 811,3 g

 - Lagerverlust 1,4 % 11,3 g

Verkaufsgewicht 98,8 % 800,0 g

Aufgabe 3:

Backgewicht 100 % 380,0 g

 - Lagerverlust 3,9 % 15,0 g

Verkaufsgewicht % 365,0 g

Aufgabe 4:

Backgewicht 100 % 759,9 g

 - Lagerverlust 1,3 % 9,9 g

Verkaufsgewicht 98,7 % 750,0 g

Aufgabe 5:

Backgewicht 100 % 55,0 g

 - Lagerverlust 0,4 % 0,2 g

Verkaufsgewicht 99,6 % 54,8 g

Backgewicht einer Semmel: 30,250 kg : 550 Se = 0,055 kg  =  55g

Aufgabe 6: 

Backgewicht 100 % 520 g

 - Lagerverlust 1,3 % 6,8 g

Verkaufsgewicht 98,7 % 513,2 g



Aufgabe 7:

Backgewicht 100 % 61,0 g

 - Lagerverlust 3,3 % 2,0 g

Verkaufsgewicht % 59,0 g


